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GENERAL SCIENCE

[ Special Examination ]

Full Marks : 90
Pass Marks : 27

Time : 3 hours

Candidates shall note that each question will be
multilingual, viz., in English / Assamese | Bengali /
Bodo / Hindi medium, for their ready reference. In case of
any discrepancy or confusion in the medium / version,

- the English version will be considered as
the authentic version.

. The figures in the margin indicate full marks for the questions.
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SECTION—A / T—s1% /F—4l/ —aTgTit / FetrT

1. For each question given below, four answers are given. Qut of four,
only one answer is correct. Select the correct answer :

WMWWWWWIWWWMW.W|
g TEAn) g SRsar ¢
ﬁrmﬁﬁmmﬁw@mmummﬁwwm%
To9 | W YTl e

| mmﬁrﬁanﬁnﬁwﬁnﬁéﬂﬁmaﬁmanﬂ#ﬁwﬁqﬁa e
T ) e e v g
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fa) A solution reacts with crushed egg shells to give a gas that
turns limewater milky. The solution contains

b1 T ofd IR @R I qEs e RiEn IR @b or Teom
A | COTRTBICA oIe (XAl JCA | HRCBTS AT

3t T3 G @ AN Row (IR ox Ridem 90 Goiv 587 Teorm
TR | I Hea & (X1l A | TAfoCS A

Wy TierEen MeaEE TEch Rdsl feAwer S AR GeE e
FmRED s g e mear SRk @ afemEsa 3

FE frer o ¥ R g Faw ¥ iR T W s Fa R, W
9 % o 9 ghrn w2 1w e & FmAm?

(i) NaCl (u)’ HCI
(tti} LiCl (iv) KCI
Food cans are coated with tin not with zinc because
s SA ] ARKARS B 2Tt e 2w, R v ) Ree—
AR S0 AN <03 R awEe ciem =, e W IRa—
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(i) zinc is costlier than tin

ooty R

- o srerm R R
feafrgg fompen ¥ TiRm
Ra & e e wém &

(i) zinc has higher melting point than tin

RisaRecic Rz Ne - U
o s fox weerst g

&7 it srden v w1 e st B

(43 zinc is more reactive than tin

R forots wite sy -
&= R om wite s

7 6 anen firw i sffsmie 2

(iv) zinc is less reactive than tin

R forets o9 sy
& B o 99 ey

27 <t arten form =+ arfifsrarfier 2

(c) Using Mendeleev’s Periodic Table for formula predicted for
the oxide of element ‘Al is

mﬁmﬂqusﬁm%ﬁﬁcﬁw‘m’cﬁmm
ACIS T

eafTey Wwwmﬁ@w ‘Al' (Moo sy
ATIS A
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ﬁv@ﬁ-mﬁamﬁn&wﬂmmﬁﬁgﬂw'm’ﬂﬁﬁﬁmﬁ

430

AR ST
Ivdeha ) sad ol F1 v W AR R T Al ¥ STERS F
[\R

£) AlyOq (ii) AlgOg Ely
(iii) AlO, (iv) AlgOp ]

2

(@) Hydrochloric acid released by the gastric glands present in
the wall of the stomach facilitates the action of the enzyme

called

TR (TS R AR T 9 2GRS s
NFEARN FSUH AT AR [>T I YGRS TS
TR TR 9 A frdman R dem g’ e s

s 6 e & softm s ufinl @ afde excieeifs s faa

=A< fran # g dar &7

(7 pepsin
cie{foR IR e frm S v 9re S IR
(P e Bereed frm Siges Fte AW w0
ARA S

(i) trypsin e
Tefes AR Servea fm S’ 1S I w1
fioFm e S frn Sz e s 3@
e 4 Tomn ST et @ e

fefem

(iii) amylase
RIS AN ST T S’ 391 T wd
RS HE SO o SEer Tare Wmw ey
wzes g Teeeft seRE! el @emEE e B
TSt
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(iv) lipase
FREe WA B form B e 1w 3
TRL® T TR form Bron wars W I
T G wni st e @remEEE e )
T

(¢) Which of the following hormones requires iodine for its
synthesis by the thyroid gland? 1

T (@ WA RAE AR wR1 o4me IR\ W@ WWRE
AT 7

TS W 2

mﬂ@ﬁmwwﬁﬁaﬁ@ﬂﬁ@?ﬁﬁwmﬁqﬁ%
?

ﬂmuﬁm'ﬁf&qmﬁeﬁﬁqaﬂmﬁ%mm&
AT 27

(i) Insulin (it) Adrenaline

Egieg <yt

L3t i WG

Fgiem wffem

wgfem e

(ii}'d’ Thyroxin (iv) Oestrogen
VIETHE L ExhcT
3R LlenieT
g ®H
AR TReH
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() 'The idea of evolution of species by natural selection wag

formulated by

AT FRfoTR W o] Seifda g wifd 4ffRe

21 IS T SR et 1Rl T (TR

R wrre et st it st TRtk

NIFHS 0 g oy (wdiefter) e & Rt B uftwen R 6 47

(3" Charles Robert Darwin
oot RIS RS
SE TR TR
A @R ST
o8 e =i
(ii) Gregor Johann Mendel
CIR (IR (ST
CI9 (BRI CTSs
IR S AT
IR SEH dew

(iii) J. B. S. Haldane
. R. ap. o
. R. @1 grEew
%, fo. wg, e
9. 1. TH. geeA
(iv) Stanley L. Miller and Harold C. Urey
@ . ReTR T s B, XeRew
F =, fER 93 IS B, TR
BT g, fier o s . efamn
Belt e, firem @@ dws . gt
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The image formed by a concave mirror is observed to be
virtual, ercct and larger than the object. Where should be the

position of the object?

AT TN 9G¥ 16 I ARG ook, A e sTERGOlE CIed
CIIRI 51'9 | TG WA 'S 3’ APR 7

G SR o W <3S AR wpie, v W TERER (WF T4
CIRTS 1A (17 | SRR SR (I 287 o 2

GRE AR R AWRRAR wEEen wrafy, s Aek-
mwmwrwmaﬂﬁmwﬂq?

Tt foiw =1 srmet for g @ whifde amyrh, ?ﬁmamﬁaﬁm
o T | faw < Sl =t e wifte?

(i) Between the principal focus and the centre of curvature

T F'IR AF SHEFR S
T4 (FIRP] 3R ST T
RIGER G EE G e R s
I BIFH T ThaT-75 & H9

(i) Between the principal focus of the mirrer and its pole
AT 37 ¥R SF (T TS
FolCTR T (I @R (TR A
AT TR B e AR AR ek
T4 % Y& BIFH YT IH YT F o9

(iii) At the centre of curvature
SEPES

SICICE

G

FHAT-HR T

(iv) Beyond the centre of curvature

SPL 21-GS/31A
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() The human eye can focus objects at different distances by
adjusting the focal length of the eye lens. This is due to 1

Wﬁf@mmw’mmﬁmﬂﬁﬁwﬁﬁﬁmm@ww
TR IR oI 1 A IRT A |

ORA (TR eRem o fer @A Rt s 3w @t
TR FAR 7] (B R |« F1RY T

YRR A B AR v SAuRh Seaea S 9 T
AT 4T qA G @A gri | 4f e S

a3 A S f wiea g w g W e ghat w
a@aﬂﬁqﬁﬁamm%ﬁ{m@vﬁaﬂm%

(i) presbyopia
CoraTy o OFo0
cePRTCferT 5
Y=g R
SRI-ghe (Yerif)
(i) accommodation
BTG e
oIS el
TR g9 T8
WA &wal

(iti) near-sightedness
fRab-7fReEe
fAeb-yiRemel
SRR
frpe-3fe 2

(iv) far-sightedness .
7RGl EISER
- iegel
KSR LU
R-3e 3
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(i) The SI unit of potential difference is 1
ST (o R, W%, WFF T
3 st . X, T A
vty SR T, A, KRR
fvaim = . o, T R

(i) joule (ii) coulomb
e S
Ay Fd
kS T
(iii) watt ' (iy) volt
Y P
TR Vo2
R e
() Which of the following is not an example of a bio-mass energy
source? : 1
TR (P KII-=9 R T T ?
FWva IR Girsa «fes T 7 2

erf wreEn e ARmE uieh ety A i e
mﬂ%m-ﬁ%mwm@@m?ﬁt?

(i) Wood (}Lf Wind energy
4R I
7 ? T
35 . aR e
e Taq Fei
(iii) Gobar gas (iv) Coal
| (5T (R I
(AR ST ‘ FE
TER A4 e
TR ™ R
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SECTION—B /{—i /4~ /G—enit / G—am

¢ Write a balanced chemical equation with state s:rmbﬂlﬂ for the
following reaction : 1

T R I w@m Bz (state symbols) 7% b1 GRS APTE

ANt ot
Svx RN 5 @ B (state symbols)-1z @@l S SPIFF

SR (A :

TR R urrR RIFARA SR A8 garg e e for:
fAraffer sffr F Rt 3eh s ¥ o¥a ¥ @y Gl TEER
gt forf -

Solutions of barium chloride and sodium sulphate in water
react to give insoluble barium sulphate and the solution of

sodium chloride.

QR #'4RS 9% TRAM YEEia SN vl gee R 9t @k
@R et WE TN #3313 94 4TS W | |
@RE GRS @3 G Aeend wam wed wea Rigwm W
G @R TEES @3g G @TaiRees 59 oS =W |

IfEm T’ tgsA TiieE I Tae afeam aehes R AR
mwmmmwmﬁﬁaﬁﬁmﬁ@m

wa & AfEw FeREe @ oftan W % fHawm afufewm =&
SoEATieT ARed Hehe A BT weiRigs 1 feed 9 R

} Give an example of a metal whichisa liquid at room temperature. 1
4Ty <GB el fian RCBt 4R RIS (room temperature) A | '
Gfb 41gA AR WS &6 4R THOW (room temperature) S | a
yrg AR R & I aigen sueTE SN e |E |
o et urg 1 IRV AR N FR F a9 R 7S B R

Draw the structure of ethanoic acid. 1

SRS fRe 16 S |

PeEflE SHCeR 518 S | A
zorafies wiysf <rums s anfa)

g A 6 @ w1 e fiftg
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\5_’/““’313 is a spécies?
S ¥ o

AFHIRS %1'}
BIRERT 117
sy (wfieier) war 27
Or/ 37231/ wwar/ var / sreay
What is evolution? 1
RAEA R 2
R¥&q §i 0
SIS 717
T = &7

/3( What do you mean by power of accommodation of eye?
5 AT el A ¥ 2
(OICR BT o] I B 2
WA} TR e A ge?
A7 i wHeE sma | =91 A 27
What happens when dilute hydrochloric acid is added to iron
filings? Write the balanced chemical equation. 1+1=2

¥ 6 e =1y y'w' [T oRe @R oRs @ 731 2 A2k PufRe

FRAFRCo1 o1 |
3 76 T39I AREERE WS GTRA SR R S T W2 WOl

AT AN C=Te |
A1 ST A1 SO TEg Tk RS WA TESE AR R §eeg

TEEAR FEAYE R
S-S0l W 7 TESEEIRG W e A T A &7 Wl THERE e
[ .

Define pH. What effect does the concentration of H* (aq) ions have

X on the nature of a solution? 1+1=2
pH= g ol | #@ ORI ¢S Ht (aq) W siper & aow

T 7
pH-a3 5@ (A | I WA 2R 8 HY (aq) Wem simeer N
SR AT ? |

pH f1 g R wieema el ffdmif srme HY(ag) smAf

@A T w4 e o
pH # wftm fafaw) HY (aq) 37 it Wi &1 faemm 6t wfy w =0
wE gl 87
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9. Name the organ through which plants exchange the Teﬁpt;rgtog
gases, Which process is involved in the exchange of COg and Oy 1+1o

plants?

R SR TR SR WP (o1 SRR 9@ OR AW for 1 SR
OIS COp SIF O (515 o= o1 &ist 2yl fapIcor A e |
@ T TR SR A MR SHA-e A OF AW e | SR
CFTd CO, 93 O SNGT SMA-2AH WIS 21 26w eiferivg 9 e |
WY I T BEEE-gTeT i dea wa @ $f ge e
aﬁﬁﬁﬂﬂmcozaﬁ%ﬁaﬁﬁmm’wmmﬁ
T /e

qreEl % 36 3 @ AW e, R T S e S R et w1 eE-TeE
W &1 T F CO, 30 0 F ARF-¥aF # 5 Tohw i Al et 87

Or / 5%t/ %31/ war/ srerar
What is the fluid part of our blood called? State its function. 1+1=2

SR (ST B4 FOTBE R @T 2W 2 WR I IS 90| I
NI CEF O G BTN W2 A I TG A g,
S 4 e A mger? AR wEwE fw Bl

TR TR A W R T FE 37 30 T T 27

I;0( State the differences between axon.and dendrite. 2
G AF (TTGIREA VO NYLIPE Tl |
T 3R (SAGIRDA N4 PR oS |
T A ST i s R’
B (qwa) T g (Fge)  wn sim &7
‘ Or | %31/ 5431/ var/ sreram

What is reflex action? What is the role played by the brain during
this action? 1+1=2

i 1t+1=2
2 farm 162 @ o ST worgra 3 $Ra o 303 2 .-E--E! |
o1 o 6 7 9% e e oo D s oz gy @R

e A A MY S A wHE w1 frwm wme

et e @7 sl fovem 3 et ) st 37
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J"What are the advantages of sexual reproduction over asexual
reproduction? | 2

ST 2 AT (A o5 e SJRAPTR o R 7 -
S 2 iR wgep N efeeq effdrms sffuaf R R 2 v
mﬁmﬂ?%ﬂmmmﬁ@mmmﬂmmﬁﬁaﬁﬂﬁwmm?
IR S R 2R A o ¥ T B

' Or / 7%/ w3t/ v/ steran

Wl?at are the reproductive parts of a flower? When a flower may be
unisexual or bisexual? ' 2

ﬁwﬁww{wﬁsﬁw QW T @orEF IR AR Toufm
-7

T Yo 2o W R R 2 T R P @ S SR e
jﬁéﬁ%ﬁm@ﬁqﬁnmm?mﬁmm%mmwﬁw
I e

TH IS o S AR &2 Rl g o ettt sten vl @
ehal 27 |

12 Give the differences between autotrophic and heterotrophic
nutrition. ' 2

TR S “eeife #(fAofE3 T ~nefarig B |
TR @32 oo Refen Ty iR Aanll
A FHETTE 310 WA GHARATAN TR BRITH 41 717
ATt Quur qur freand g § T e €2

Or / 51&31/ w91 { T/ sreran

What is an alveoli? What is its significance? 1+1=2
AP 7 GRARA AP

AW 7 gl &R R

IR M A ImguEen A7

e a1 37 Faeh fordiwen = 7

_13-The focal length of a spherical mirror is 10 cm. What is the radius

of curvature? . o
(ST 2N 937 T'FR (d 10 cm. TR S APy e 2

3R SRR woeR @R i 10 em. R S AP B2 A
T TR TR % 'HE wreEa 10 cm. JF GEn qEELT S¥=i?
s Tirely dor 6 BE g 10 em ¥ | T6EH Thar-Bea = grii?

SPL 21-GS/31A [ Contd.

https://www.assamboard.com



a filament of an olectric bulb for

B A i b
A current of 056 A is drawn Dy that flows through

16 minutes. Find the amount of electric charge
the circuit.

1 Ty T SE 16 R S 06 A SRIE 7 | TS DTS

a1 RS Sy cfAme Sfeear
ST tagfos e RATTs 16 MR 0-6 A 247 2% IT | FEAMCS Biere

[/ Z‘!‘{lﬁ'ﬁ‘ WA oif A1 8 TR | https://www.assamboard.com
) e TR Reemian 16 fifie TR grEw 0-5 A MfRE ERE! A

W | SheerE A AR A R R
et fage sew % 9 # A 0-5 A A Rgr-u 16 fire 7% Farfed e 2
T wiww @ e g amaw  whem 1 iR

- ) What is the principle of an electric motor?

18.

RIPieF Toe JeRifeco! i 2

Qe bR ganitel 9 2

Hifer™ gxfy @R m?

Torega et =1 i 7 27 |

‘What is the role of decomposer in ecosystem? Explain briefly.
*fifefs oFe Ruare g ¥ 2 st Tmm w14

“Ifsffoory Rearsces g § 2 Aewee e e |

AT et Feamen fiwmen m? g2'd 9T

i # SrmTsichi i 4 ifiv &7 WA § wmen Hiftg)

What will happen if we kill all the organisms in one trophic level?

(FICA] 51 (e BIR SRERAR &ieF /K1 IR 7 9fHq 2
QI R NeF TR Fa §F /e T3 T W@ 2

A1 S R A A 9 GReRR TR Reere gum?
1 grT, AR 39 T Uil TR & ot <fit B wem w E (aw e ?

Take about 0-5 g of sodium carbonate (Na 2C03) in a test tube. Add
about 2 mL of dilute HCI to the test tube and answer the following :

<51 ARIFTTS 0-5 g T GUM FAG (NayCO3) TR | €% ¥ oo
2 mL 91 719 HCI (W91 391 W% 9o7e 71 2ea<a Baq foray - |
a6 AAFeE oW 05 g G IR (NapCOg) 8| @3 oFmm
TAOCS 2 2 mL =19 HCI 0191 31 938 Mo 7am 298P Tag copeay -
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T AR T 05 g W wRam R (NagCO,) wHE sl
AR YA 2 mL % Y HCl ge 31 TRty Bamen s @

O @I & wm 0-5 g WRem s (NayCO5) wife) wael #
ST 2 mL 93 HCI femse won fie @1 3o frRac -

(@) What happens in the test tube? 1
RIFETRS ¥ T2 7
“Rrereee § 7 2
SR TS W SU1E A7
! § T gan?

(b) If you pass the gas produced in (a) through limewater
(calcium hydroxide solution), what is the product formed? 1

(@)  Teom IR CTRebT T Pl (efea 2RE HRS we)I ACEA
R A fill, o8 & omiy Teom 7' 2

(@) ¢S Teoim >ew soeif % 3R o (IIEPAN TRYEES W1)-9F
Y FIw MR TS (oW T, OrgE oy Teom A2

(a) m@nﬁmﬂn&rﬁggﬁﬁ%{%ﬁmmmnﬁaﬁ)ﬁ
NSl i st WA SRR

Ife 39 (@) § 393 W & [ F I (Ffom TegiTgs ¥ ) @
yaifed &, A SH-81 951d WW gm?

(¢) What happens if you pass excess of carbon dioxide through _
the products in (b)? 1
(Write all the chemical equations of the above reactions.)

(b) © Teom A MR T I JRRT 3T SRS o
=, (o8 9 ?

(@oreq RIFAICIRA IPTRFE FNFAIR ol 1)

(b) (5 TR TeM amfgferm vy i I Sfole I oitwEis
oA T, BT F B ?

(Boan RFTIEER IPTRAS FNFIPHR E l)
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o) s s R Y forg A e ST €
7oA T U SWRNT -

(I ReeTUTEeRA AR T fe )
() % 3= qadf | mﬁamﬁmgﬁmmwmw

e
(IR aft st ¥ R Tt o fafaei)
Or [ 7831/ @&t/ gar/ rear

You have been provided with three test tubes.
contains distilled water and the other two con

One of them
tain an acidic

solution and a basic solution respectively. If you are given only red

litmus paper, how will you identify the contents of each test tube?

A b g ——

a%a%mmahwﬁnmwmﬁwmwﬁﬁwmﬁ
fom =, Cors AReCDT “ArETeTS <@ BT R e #RA 7

V" comize R ofRrEE e TR | CIGRE eSS T R S
iﬁmmaﬁmmﬁsmmammwﬁﬂm.wwﬁm
Wmﬁﬁmmmm@m,waﬁﬁﬁﬁmwmﬂm

SIS T ?
ﬁﬁmwmmaﬁiﬁwﬁﬁﬁmw%m@ﬁm
wﬂ%qﬁa@mﬂnﬁ@amaﬂﬁuﬁmﬁélﬁiﬁmmm@m’
Wﬂﬁmmmﬁmmw%?
mmmﬁﬁﬁnﬁélmﬁmﬁmﬁaﬁqﬁmﬁﬁﬁmﬁ
aﬁﬁaﬁaﬂﬂﬁm@iﬁmﬁaﬂq%wﬁm%ﬁwm%ﬁwuaﬁm
m%,?ﬁmuﬁﬁwﬁﬁt@ﬂqmaﬁwﬁﬁ?

19 Take about 2 g of lead nitrate powder in a boiling tube and heat it
me. Explain your observation with balanced chemical

over a fla
equation. To which

51 Twer Fare 2 g WA 310
WWIWWQWWWWWWW1

ﬁmﬁsﬁmwﬁﬁﬁﬁfﬂﬁwﬂm

type of chemical reaction does it belong? 2+1=3

AREE ATIR TR I TR PR eeRe ¢}

S

T Gem AV A 2R 2 g (TG RS TN e G CIOCE ST
B T 40 AR A | (O R ey qpmie SRR I

=1 | <% Rt R 2eead TP RIGTR oB6fs 2

SPL 21-GS/81A
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™ T T 2 g W e TR e o ) A ST 1 AR
mﬁmwnﬂmﬂmmmlﬁﬂmmmmﬁm
AU fyer wrdan?

% O et & v 2 g S Ak o R @ 38 e ¥ I

RS IR Y B wghm TarERE Wi % @y e S T8

SR R e it Tt s ¥ afwia smeh? EEE
Or / 331/ w3y var/ rerar é%

What happens when white silver chloride is kept in sunlight?
Write the chemical equation for the above change. Mention the
typ,e/ of the chemical reaction. 3

301 ReToR #3T A MRS AR B M2 @R ARSI T
AN foran | @2 I RFIER o BoEy 41 | '
A PSR @RS T WReme AR B W e d RIS
TFRS ST @ | 9% AP Rfmia oer Srey 3 |
TR Rreir w01'Tge arf TR Qe afadieen T S Sr? /i Wie-
TR TEEAR gERYE it Taaai i e 1@ |
0 A s g T A @A O % e TRgs @ aa? @ e F

foru v TaEiE T i) @ et afifEn @ owEr w73 R,
g '

20 (0}~ What is Mendeleev’s Periodic Law? 1
crafirsd #Riigs o 82 S
crSRred #gS @i 2 S
Aoy R aE TRl @R kR
e e Rigid =0 @7

(b) Mention two achievements and two limitations of Mendeleev’s

Periodic Table.
cpefired oS SRR o1 TSl W T el SrEy 1 |

WW@W@WWﬁWWﬂWE
SRy sl @ AR T ARG T AR A e T |
ﬁ%?ﬁaﬁaﬁﬁamﬁﬁamaﬁﬁamamaﬁmmﬁﬁm
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Or | %31/ §eRy/ wat/ srean

(@) Explain Dibereiner's triads with examples..
TR TS AR GG 101 41 |
BHIZAPTZ (SIRICARACTT GRITS I Al |
R 3'aferh am G s@a|
R F Y TR F fie A =rem hf

(b) Did Débereiner’s triads exist in the columns of Newlands
octaves?

fATEIOR WEI TS TIRATA GRS il ¢+ 2

e a8 < waehite RIS Se f&t 912
AR s Pradivewfy sl She ataE grEwRt amT?
TN IHER & ek =iy & ares ww o g o &7

21. How many elements were known at the time of Newlands? Name
the first and the last element with which Newlands started his
classification of elements. What was the element up to which
Newlands’ Law of octaves was applicable?

ﬁ&aﬁawﬁmmw@awiﬁwtﬁﬁiﬁ? f=etr CMecamm

crRerm TG T AT WF O CRTOR AW B e e ondg
FRYaeRa 8% Fach! 2eames 2T o Lot 2
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Mhat constitutes the central nervous system? Which is the system
that facilitates the communication between the central nervous

system and the other body parts? Name the nerves this s}’sterln 1=3
consists of. e

@S TR Rew ) o) ol ey W v S S SR O

ﬂmﬂwﬂwwwrwmﬁnmmmmw
- fom /'L

@I WYe N A Wer @8 o R, (A A SCT A
ST TP T e e g R 7 n AR A o WA o

ST AR T | |
ﬁmﬁﬁﬁn%@ﬁmmmﬂ?ﬁﬁmﬁﬁnﬁ@ﬁmﬁﬁ%ﬁ
TRPNBRA TR g w g deEm fam Rt weod
fraRrn amtmm e

< T e T R A 37 kg e da & o @ A
ﬁq@maﬂ%mﬁsmmﬁﬁamwaﬂrﬁwmﬁm@a
afentait & wm fafau) |

, Or | 72311 |/ war/ aan

- TRBET
qrest & TaERE e e yER de et | ;
2 aw a neat labelled diagram of the longitudinal secnfm of a flower. 3
}/]I?fl:ntion its reproductive parts and state their functions. 2+1=

él"ﬁiWW&ﬂﬁ Wﬁ%mﬁmlmmﬂ:@mq

ration? Give the differences between regeneration
What is regene '

1+42=3
and budding. WWW mwmi
o & 87 ﬁg?;aﬁmam st (TS |
Trél‘\?ﬂ@’;' 'Wmﬁmaﬁmﬁﬁrﬁm@ﬁﬁl
[ Contd.
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2 : . . [
/4/W_hat 18 a trait? With the help of one of the Mendel’s experiments,

sh i i
ow that the traits may be dominant or recessive. 1+2=3

SR tafiEr 9 (YR R’ @ by «[a
TS iYGal (@ vffae
Wmmﬂmi’ﬁml h

Wﬁmﬁ%%?ﬁmmﬁmqﬁomwmmmmﬁ

QPRPIZ aw@ 1 wers@ S A |
AT Aw=ay mMe Auafy |
—— IMAMEHERE @R 7El Tes wEr

E%W?T%?ﬁm%mmmmm%awnw e STt B

! OfuA0

-' Or | F&3t/ <1/ var/ sverar ,;1 A
What is variation? How does creation of variations in a species
pPromote survival? . - 1+2=3

mmmqﬁs?mmﬁﬁ PIPIPTIE. R QRERS
SRR 3R “BremaTe 31 2 T

(FIPTel A 9| N2 g FEIfece (TPITYE. P
ERSFIT &5 A el w5 2 ™ e )
mmm?mmmmmmmﬁwm?

mﬁéﬁﬁwﬁ%méﬁﬁmm(%)mwﬁam

k55/ What is the (a) highest and (b) lowest total resistance that
can be secured by combination of four coils of resistances 40,80

12 2 and 24 Q? 1%+1%=3
40, 80, 12 QWF 24 Q @A BRI T FAFML K AT () S s
(b) T 5 QR T AW 237

40, 89, 120 @R 240 ALA PRL FIA MY FqT 707 ey
(a) S G328 (b) " @ @R T TS I 2

40, 80, 12 0 3 24 0 IR AR T (coils) Wri=Ty ey gy
(o) wafrgs wift don 3 (b) TGS TR Bl vt g

40, 80, 120 am 240 YA N TN FehE ¥ w0y 3
(@) Afmay 3 (b) Feam Fo SRy S gm? fepermn
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Or | 5%/ 9=/ van/ sierar

The Vﬂlue§ of current I flowing in a given resistor for the
corresponding values of potential difference V across the resistor

are given below

L]
"

I (ampere)

6

10

15

20

25

V (volt)

10

20

30

40

50

Plot a graph between V and 1, and calculate the resistance of the

resistor,

2+1=3

D ATE @I TR oS o[ [-4 T S AR~oRe fse =7 V-3

RISACSCRG R
I (af*emm) 5 10 15 20 25
V (5%%) 10 |- 20 30 40 50

V% [ 9 951 @R & 39, WF @HIOR @Y SR |

9 oA7E @Ea WY i oAk 49 [-a TF @R AR {93 5%
V-93 919 S (RS A -

I (SO™=ar9)

5

10

15

20

25

V (CSF0)

10

20

30

40

50

V @@ [-a9 TR (@1 e I 938 @rIoa (@Y Refn )

ot wd @U' grErfy wwe V i aaft g o gy Nenel e

o grn 1 7 TRE TeRE g SR
I (Tfimm) 5 10 15 20 25
V (¥e2) 10 20 30 40 50

v 2 11 i a)-wrEmR sia I A gannfy g wreh fg
fredt ShduE ¥ R ¥ o RoRim vV F fafm ae & foe e weiia

gy 1 % wa A AS Reme g
7 (AfFTm) 5 10 15 20 25
vV @) 10 | 20 | 30 | 40 | 50

Vawféﬁﬁamdiaaﬂmnﬁiﬁuﬁmyﬁﬂumﬁﬁm
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( 22 )

k}64p1ain about the magnetic field produced due to a current

: through a circular loop. 3
JORR PON GO 2ATEd I B @A pCwad [ w40
«Ff5 JBRE TSR 2RCRA T YR 29w pIECTAR Ruen e FA |
A st e YeEATR RER AfEE SR S g amfeE!

Cici
e - URTATEY T AR T (79) e S gah 4 i =men SRl
: Or / %31/ 5o/ gar/ s

What is electromagnetic induction? Explain.
R pa¥m swee R 2 < 4 |
e pFER S R 2 AT I
M geawaTR g TAES MY e |
fgq-gahia o |1 87 AT SIS
277 A student has difficulty in reading the blackboard while sitting in
the last row. What could be the defect the student is suffering
from? Draw a ray diagram correcting the defect. 1+2=3

TR AT O (WS A @G GRS SR A | YRR
o1 RFREE! 6 23 I 7 TR SKeea (rEiR o S 4 |

(R (AE T G WA DR (e PR W | WA $oICS
] R N = AT 7 G/ A GReT DS THF FA |

AR T a1 i e e e R S M 1 S
a’s W RN TR S g7 @ AER wEmE g A A
FrER SR |
sifim ifs 1 43 et frensff 3 g vg # e € &1 7€ faenefl T
g@ﬂqﬁtﬁﬁa%?w%wﬁmaﬁ%@ﬁgq@@-ﬁam|
| Or / T&31/ 931/ gar/ st

Why is a normal eye not able to see clearly the objects placed closer

' 3

than 25 cm?
SR FCA 25 conSLF G5IS I T8 BT (T AT f@u 7

4R RS 25 cm (AT IR 11 TP PRSI (7 (TS ST TR 1 2

25 cm firgs IR AT FATE FI A AT T A A
WA 39 25 em @ Fiwe @l T aggell A GEE Hi T <@ Ta?
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29. (;I/Write the electron dot structures for sodium and oxygen.
=R w1 e e R 6o @
G s SRTeR T Re@ 1o e 1
wiam AR AR e B e fer|
R 3w o i 3oz firg de fafeu

(b) /S/how the formation of MgO by transfer of electrons.
SR FREAR WRAte MgO3 6 o |
SR TR NG MgO-a 716 (e |
s srrErEmfy deEEe MgO fi dwimae kFa
AT 3 TR % 70 MgO F e S

(c) )N’lﬁt is roasting? Write the chemical reaction that takes
place during roasting of zinc ores.
ToERT I @7 REA e erERd dfEge AEbe [
I Rfdwm faa
GRS FNF A 7 T WRied semRd e e zem
e R e |

2

fig afFged @ g7 fw Weah g sfesmeaE S
AR e o
ot R w37 fe % g % wee F Ung uuleR IWRRS
afifsrn = foRaw)

Or | 7271/ w41/ var/ srear

W‘Y is sodium kept immersed in kerosene oil?
2 g & @Afta (e AR 3 W2
G 41p (FRIPA (93 (T $RE A4 2?2
gfeam e A GUIER JEE WS 1 T S
Afeam F frrea 3w § g = T S e
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(b) What is cinnabar? Write the chemical reaction when it is

heated in air. 2
fmm R7 Ter Sefifde e Yoy W@ e @ W
Rfdramor o
PR N2 wp fRfwe o Yoy IwE AEe zem WA
Rirnfs e 1
femamen m? O demE A B A m sy A, Wf
TEERAR e fr)
R w37 @ 9y H R F o w WA aeh TomhE
stfirfirar i Ry
(c) Explain thermite reaction with suitable examples. 2
TR BRI s <G Rfermst wmm w4 1 -
Toge Tarzaceiz e R arm ww D (4
i R afife Remareah el
I IO wfea uffe arfufFa € saren fifm
30. Write the formula of cyclopentane and draw its structure. 1
B3R DR HIIS % WA 516 v |
FARATH FCFS 933 1 0 | 4
HIEFA T SO 2N aremg fo)
wEFAN- 1 3 fofaw aw weht @ fufim aifm)
() What is addition reaction? Give one example. 1
e RfEn &2 X 9o s &
asre R 2w 9ot ama @ )

A fFemuRen wm? of o iR 'E] E’

Heper AhifsFn T 87 s 3ereew v Bt

_{e” Why is the conversion of ethanol to ethanoic acid an oxidation
reaction? 1

YR ST Gfoele Fomsa Aot R ub w1 Rftem 2

TR IR SIBICS FeER M (7 @I WA Rfpre >
UreE) 39 e et demArn AR AR R
AT | uieigs vt | afEdd ) stiedE afvfrn w1t ) 87
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( 24 )

(b) What is cinnabar? Write the chemical reaction when it is
heated in air, 2

BRR R 7 o iR W Yoy e e @
fRfdFmo! v o

BRm R TR R o toy wa wafte zem AT
faferai® e

fRememen M7 R demmE 6 B ddee W ooy S, 4
TR femgE) o

frmar = 37 W 9y H AR FQ w AN aEh et
afvfr = fofaw)

(c) Explain thermite reaction with suitable examples. 2
g THRACT Cice AT RfdFmes arm w4 mim
TorgE Trraerz, A Ridemfs rm @) M
T R afife Resmuge a@a)
I el wfa affe sififen i =men i)

30. Write the formula of cyclopentane and draw its structure. 1
BIEF TR OIS WE R 51 o
FIRCATHER TS G 510 (Tl |
TgEd At wgen A g fw
T o g TorRa aon geeht s T Sifor)

(b) What is addition reaction? Give one example. 1
cnsmere Rfern R 2 SR b1 e o
s fifam § 2 g @i TerERe @A

[E%E
ST e w7 af O RRfR A IS

e AMBRN T 87 T e e make

(o)~ Why is the conversion of ethanol to ethanoic acid an oxidation
reaction? 1

R AT QfbSlE FomEa A [ bl wraet fRferm 2
SRS 2R SRS HeM6a T (3 <3 TR Rfdm 2
3AFerE) 39 R WRyeRm R A Al feneg?
wdie A Tl It § aiEdd @ st Afvfr w1t e §7
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Wt are the components of the transport system in highly
organized plants? Write about the process of transportation of food
and other substances in plants. 2+3=5
5 Y SR Rz e Cemren & R Sewe oA amm A
S HAR iRz Rega fa
ot SRR Rz wraw MR R 2 B uibe 26w AT R
S AR R orafen Rea e
MY G ARHHERR Amur AR g m m? s T
RR AR A FATHRMA WA 7rER s forw )
=1 G1fda aredt 3 uREEd 99 F uew w1 &7 wiedl # e awn gat el
TIATR R e 27 '
‘ Or [ 7231/ |3/ var/ srerar

What is digestion? What are the different parts of our digestive
system? Write about the functions performed by the digestive
enzymes released at different regions of the system. 1+2+2=5

omsa 7 SR omer Rfen sergz B 2 eEor Rita gme fsifRe
(A1 “IT6F BLTHITRA I F7=0fe 1 ) |
oo 6 7 TR “fbrocad R wormz § R 2 o7 Rida wem Fefrs
Qﬂmmﬁqmwvwwml

- 2w T? Sy S freRAR ER g awmer e e 1
T wrTeTE R e TRt g =
A 27 TR UER 9 % fafm o w-w #0 w@ 93 F fftm wvit @
FIfaa = TegAt % 0 FH €, TRl '

‘_}2./ An object 5 cm in length is placed at a distance of 20 cm in front of
a convex mirror of radius of curvature 30 cm. Find the position of

the image, its nature and size. 5
30 cm S PPIYT THA WA IR FYYS 20 em 9O 5 em TR 77
BT 341 ' | 2SR S, TR 2P SR SRR A

30 em SF IPMLA W36 TG 7M™ TP 20 cm [TF 5 em O™
Gl 73 Tz | AfReas T, 7 oS 9 SRR Ry e

5 cm TRYEHA WA AGR @ 30 cm W@ W @R THI T GH AT
fRomer 20 cm MeFE e SR FEER 9El, e aR e
g
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5 cmﬁaréa;]aagﬁa:a
70 W e T %, Ogl'%?-ﬁwﬁzﬁiﬁmzﬁm%mﬁ 20 cm

WHh o s (W) @ AR
| Or /| 71331/ o1/ qaT/ SreEr
An object, 4 cm in size, is

mirror of placed at 25 cm in front of a concave

should st::-(:l l;;ngth 15 cm. At what distance from the mirror

h en be plf.lced In order to obtain a sharp image? Find
€ nature and the size of the image.

15 em IR R wwE wenq 9T YIS 25 cm [AYS 4 cm HIEA

aﬁ‘mwmu“ﬂ?ﬁ%ﬁﬁaﬁwﬁmwwﬁmﬁmw

93 R AR 9 AR R W% 29l Aoty 27 |

15 em PR tTHR @b W wefee Sy 25 cm YACY 4 cm WA

MWWMIWw%ﬂ%ﬁMWWWﬁC
WE IS R
mwwm?mwmmﬁwwm T
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